PROFESSIONAL EXAMINATION BOARD

Pre-Agriculture Test 2016
16th May2016, 09:00 AM
Topic:- MS_Physics
1)

Question Stimulus :-

The S.I. unit of magnetic dipole moment is:/99®4 f§3a mygof @ S.1. 3FT1S 3:
e Am-!/ufRRR Hiex -1
e Am?2 / TRRIR wiex 2
e mAls/ fiex ufemr "1 IFs
e mA2s/ Hiex TR 2 3%
Correct Answer :-Am?2 / TfR@R dex 2

2)
Question Stimulus :-

A unit of magnetic induction is: /ijaﬂﬂ'q W1 Bt s'fﬂ's: %:
e Weber/meter? / CELGIE

o Weber/amp — meter? / e TFI R /A 2

o Weber/meter / e AR



e Weber / dR

Correct Answer :-'/eber/meter? , Ta{/HIER 2

3)
Question Stimulus :-

Centre of mass is a point: /Wﬂﬁwﬁrg% :
® Which is geometric centre of a body/ <1 fuvs &t sfrdiy =
e From which distance of particle are same /% fivs & Tft woif St g wu 8

* When the whole mass of the body is supposed to concentrated/ wiel fUvs &1 v sead= THAd 91T STat g

e None of these/3TH A HIS T8I

Correct Answer :-When the whole mass of the body is supposed to concentrated/ wTel fUvs &1 IS Soad

TSI HTET ST 8

4)
Question Stimulus :-

Angular momentum is: /ST F37 8:
e A Scalar/U& affewr
e A polar vector/T® {dia dfe=r
* An axial vector/ T 3reha afewr
e None of these/S7H A HIS T8I



Correct Answer :-An axial vector/ % 3fefia afewr

5)
Question Stimulus :-

If there is no atmosphere, the length of the day on the earth will: / afg drgHvS o faermm= 9 81, T{&ﬂ R feq ot

GEIERRIE
e Decrease/ ®H
e Remain the same/3af¥afdd
e Increase/ 3f¥®
e Decrease or increase depending on the season/ HHT a1 aﬂ?lﬂ My ) AR w3

Correct Answer :-Decrease/ ¥H

6)
Question Stimulus :-

A magnetic needle is kept in a non-uniform magnetic field. It experience: /Wij,iﬁﬁ'q '\El,'é G| Udh am‘:rmgaaﬂ'q
& o 3@ 14T 8, o g gHT HRd! 7:

e A force and torque/T® dd 3R TP T arr:pf
A force but not a torque/T® @ Wq HI5 g ATYUT A8l
e A torque not a force/ U% 9d 3TYUl W P15 g 6!

e Neither a force not torque/¥ @ §d@ MR A 9a GITE[Uf

Correct Answer :-A force and torque/U® T 3R TH I 3ol



7)
Question Stimulus :-

Six identical resistors, each of 1 3re connected as shown. The equivalent resistance between A and

B is: / ©: IUM UfeRIy® o ud® &1 a9 1 g, e R 9 gU 8, t A 3R B & uen Ja@ e ufaRiy ghm:

. 10
. 150
. 250
. 3.00

Correct Answer .-1.50

8)
Question Stimulus :-

Swimming is possible on account of: /ﬁ?‘ﬁﬁ =1 & PR "9ya %:
e First law of motion/7fd & uyH fAgw A
e Second law of motion/ Tfd & fgdg fFaw A



e Third law of motion/ TIfd & ?Fﬁ'q IBELE:

* Newton law of gravitation/ ¢+ & W’q g &
Correct Answer :-Third law of motion/ 7Ifd & g fFraw 4
9)

Question Stimulus :-
Magnetic lines of force: /Ja®Ig §& Y@IT:

e Always intersect/ gAY Ufddg Hdl &

e Are always closed/ 8AI §¢ Igdl &

* Tend to crowd for away from the polar of a magnet/ Ya®IT {d ¥ gAM & ¢S & a1e Fovard! §

e Do not pass through vacuum/ frafa @ 7-|'€ﬁ ﬂTrchﬁ %
Correct Answer :-Are always closed/ AR §¢ Igdl &

10)
Question Stimulus :-

A stick of 1 meter is moving with velocity of 27 X 10°ms™. what is the apparent length of the stick.
(e=3x10°ms™); /: 1 Hex B T B 27 X 10° 1fie/APHs & I T gH TS € I B8 B AMTURIT a1 fPa-it gRf? (
¢ =3 x10° fiez/qhs )

e 10 meter/10 Her
e 0.22 meter/0.22 Hiex

e 0.44 meter/0.44 Hiex



e 2.4 meter/2.4 Hic®

Correct Answer :-0.44 meter/0.44 HicY

11)
Question Stimulus :-

The value of surface tension of a liquid at critical temperature is: /Hifd® 919 W avd &1 Jtd dH1d |14 B
® Zero/TH
e Infinite/ 3
* Between Zero and Infinite /Y 3R [ & 99
e Can’t be determined/fAuff¥a agY fooaT w1 I&war
Correct Answer :-Zero/d
12)

Question Stimulus :-

Which is constant for a satellite in orbit? /3UUg * DE H w1 fRR Tedl %?
e Velocity/ a
e Angular momentum /ST |
e Potential energy/@lﬁﬁf ot

e Acceleration/ 01



Correct Answer :-Angular momentum /&0 HAT

13)
Question Stimulus :-
At what temperature density of water is maximum? /ﬁa‘\q ATIHTE W UTHT &7 g9 Sfday T;ﬁTIT?

o 32°F
o 39.2°F
o 42°F
. 4°F

Correct Answer .-39.2°F

14)

Question Stimulus :-

On the Celsius scale the absolute zero of temperature is at: /3f®@d 9™ § WY 91 PIQICIRIE HUIF
. 0°C

. —32°C
. lo0°C

o —273.15°C

Correct Answer .-—27315°C



15)

Question Stimulus :-

iz - - - 2 -
62.5 %10 alectrons are flowing per second through a wire of cross-section?1 ™" | then current in the

wire is: /3¢ feft 0.1 Tifier U= F1e e &7wa A ufd Ydbe 625 * 10 gaeelH yarfed gid € o) 9 & varfed
YRT T HIH BRI

e 0.1A
e 0.11A
e 1A
e 10A
Correct Answer :-10 A

16)

Question Stimulus :-

Capacitors are used for: U IURT fHY w14 3:
A.C./A.C. & fm
D.C./D.C. & ol

A.C and D.C./ A.C 3R D.C. & fei@

®* None of these/ s=n?r I ﬁ's: G

Correct Answer :-A.C./A.C. & ferd

17)



Question Stimulus :-
Light year is a unit of: / 398 ¥ UHTY 99 fHIP! SHTS =:
e Time/dHY
* Mass/SHHTH
° Distance/@'ﬂ
° Energy/ﬁ'f
Correct Answer :-Distance /g3l
18)
Question Stimulus :-
The dimension of power is: /2 &1 faHda A® 8:
. M1L2 T3
. M2 Ll T-E
o Ml L2 T—l

o ML T2

1712 —3
Correct Answer -1 L° T

19)
Question Stimulus :-

A electronic Iron is marked 2000W, 250V, then the resistance of the heater element is: /Wﬁgﬂﬂ N SR w



2000W, 250V 3ifPd g, df 39 SHHP (gex) g P ufasiy gim:

31.250

62.500

. 9.00

9.50

Correct Answer ;->1-2°1

20)
Question Stimulus :-

Which of the following is most suitable for the core of an electromagnet: /fAgad geds PR T & fag A & 4
DI Haifu® ST §:

* Air/d1g

* Soft iron/¥g THId

e Steel/ THId

* Cu-Ni alloy/ diaT-free fhgor
Correct Answer :-Soft iron/¥g S¥Td
21)

Question Stimulus :-

The atmosphere is held to the earth by: / T W qrgAvsd &) fFrad gRT I19 T@T 82!



e Wind/ gdl

e Gravity/ chur

* Cloud/dTqd

®* None of these/%‘rl'l?f I ﬁé i
Correct Answer :-Gravity/ TS@®YUl

22)
Question Stimulus :-

A man goes 10 meters towards north then 20 meters towards east then displacement is: /UF Al IR Bl
TR 10 Hiex 3R ITP 91 20 HeX gd $t T 14T g, df Fo ORI gHm:

e 22.5 meter/22.5 Hiex

e 25 meter/25 Hiex

e 25,5 meter/25.5 Hiex

e 30 meter/30 Hicx
Correct Answer :-22.5 meter/22.5 Hiex
23)
Question Stimulus :-

In Young’s double slit experiment using * = 50004 distance between the screen and the source is 1
m. If the fringe width on the screen is B =006 cm, the distance between the two coherent source is:

/8T ¥ 3 fRae wahT § yory it aiw uf 2= 60004 ¢ uF wd wild ¥ fiu # g 1 m B 1 9 b &Y erd =006



It 8, A S YATd (Coherent) TdId & HHT gt ghlt:
e 0.01 mm
®* 1cm
e 0.1 mm
°* 1 mm

Correct Answer :-1 mm

24)
Question Stimulus :-

The slope of the Kinetic Energy versus position vector gives the rate of change of: /It ot Td fifa afear &
aeg TN T T &) g fpad ufad g¥ & SRTaR gl 82

° Momentum/ﬂ%ﬂ
e Velocity/ @

* Force/dd

e Power/Yfad
Correct Answer :-Momentum /¥ai
25)

Question Stimulus :-

The focal length of a convex less is 50 cm. The power is: /S@d A9 Bt BIHH gil 50 JH! B, @ TP &waT ghft:



e +50D

e -50D
° +2D
e -2D

Correct Answer :-+2D

26)
Question Stimulus :-

A truck and a car moving with equal velocity. On applying the brakes both will stop after certain distance

then: /U® &R Td ¢ A AT A a9 §, §F T R G-l TP (AT g 99 A R ¥ o4 g al:
e Truck will cover less distance before rest/ $&+ %?q\'q‘wmr g?"r T B
e Car will cover less distance before rest/m %qﬁw DH 7;;& T PN

e Both will cover equal distance/ @i g JHTH §ﬁ T B

e None of these/S7H A HIs T8I

Correct Answer :-Both will cover equal distance/ gl g A gl a0 B

27)
Question Stimulus :-

A soap bubble is given a negative charge, then its radius: /af¢ DIEG] & Q?@ﬁ DI BUMTHSD MTAY fear A¢ aF TSt
e

° Decrease/ﬂ%‘lﬂ



e Increase/deil
e Remains uncharged/3raf¥afdd

e Will changed but information is insufficient to predict whether it will increase or decrease/ ufeafdd gt

TR S ISR & AUTT H FaH1 Bfe ¢ fF A Feit ar geft
Correct Answer :-Increase/?sl%'iﬂ
28)

Question Stimulus :-

The de Broglie wavelength of an electron having 80 eV of energy, is nearly ( mass of electron =

9x10™ kg and Plank’s constant = 56 X107")g }: /80eV Sl & U® FaAdeH P g St-aive aeee &1 7F
T BRI AT BT HR = 9% 1077 {31 vg wiep fFadio = 66 X107 36):

o 1404
o 0.144
o 144
o 144

Correct Answer :-144

29)
Question Stimulus :-

Which one of the following is not a conservative force:/ fEddsaar TRfd 9 Hﬁ %:

e Gravitational force/T¥dId g



e Electrostatic force between two charges/?r 3TN & A T arel ag'!ﬁ CN)
e Magnetic force between two magnetic dipole /3l @14 f§Ya & TT T arem gadid 9

®* Frictional force/EI'leUT dd

Correct Answer :-Frictional force/ﬂ'leUT q9d

30)

Question Stimulus :-

1

k = N . .
In coulomb’s law, the constant of proportional ‘50 has units:/ $AE & a9 ¥ AU fFadie

1

1{:
4o T HIAD o

Nm?2

Correct Answer :- ¢~

31)
Question Stimulus :-

The resultant force of 5N and 10N cannot be: / 5N Td 10N &1 URUITH! 9 8 gl TPdT &:



e 12N
* 8N
* 4N
* 5N
Correct Answer :-4 N
32)
Question Stimulus :-
Dimensions of frequency are: / anﬁr &1 fada 'FIHTJF%:
o [MPL71TY]
[M? L? T71]
[M? L° T]

o MT™2

Correct Answer :-[M° L° T7']

33)
Question Stimulus :-

If the unit of force and length each be increased by four times, then the unit of energy is increased by: Jafe

9 T4 |qTs BI UTET ®i AR A1 967 {371 Y, 99 SHoif & 74 | delast shil:

® 16 times/16 T[T



e 8times/8 THI
e 2times/2 Al
® 4times/4 Tl
Correct Answer :-16 times/16 T[T

34)

Question Stimulus :-
The angle between vectors (4 xB) and (B * 4) is: /afew (4 xB) Twd (B x4) & 0 IV B:

0

o 2
Correct Answer :-"

35)
Question Stimulus :-

The nucleus of an atom consists of: /&=t WY & Tfie ¥ 9 wrd &

® Electron and Proton/ 3’@3@77-[ 3R werH
e Electron, Proton and neutron/ Saagi, Weid 3R ggiv



®* Electron and Neutron/ sﬁaﬁ'—r 3R =qg‘|"—r
®* Neutron and Proton/ =q:;:T=r 3R wrer

Correct Answer :-Neutron and Proton/ TQQ'TT-[ 3R Wer

36)
Question Stimulus :-

If the work function of a metal is 4eV, then for the emission of photoelectrons of zero velocity from the
metal surface, the wavelength of the incident radiation should be: /3f¢ Urd o1 P A 4eV %, o urq Pt gag I
YA AT & Bie! sAH & Saoi ad SMufad fafewor 3t aemesf ghft:

o 17004
o 2700A
o 31004

o 5900A

Correct Answer :->1004

37)
Question Stimulus :-

Hydrogen atom does not emit x-rays because: /gT$$ o< WHTY x-fH0T BT IS T8 BT FNP:
® jts energy levels are too close to each other/?ﬁ% el WR U w & UhgH iy %

* its energy levels are too far apart/39® Hull WX 959 g3l W Ha &



* it has a very small mass / SI®I QAT dgd HH ?

¢ it has a single electron/ sﬂ%w W'(ﬂ sﬁaﬁ-—r%
Correct Answer :-its energy levels are too close to each other/3T% &ull WX UH g & THeH IHIU &

38)
Question Stimulus :-
Which of the following has maximum frequency? /= o feaat anqﬁr Taffis 82
° X-rayslx-w
e Infrared rays/3A¥dd ol
e UV rays/ UV &0l
e Radio waves/3f&al a3l
Correct Answer :-X-rays/X-f&0]
39)
Question Stimulus :-

If the body is moving in a circle of radius r with a constant speed v, its angular velocity is: /ﬂ'ﬁwa\ﬁ fo<ht
gty At & wfa o2 T8 8 foraat B r 8, vd =g @1 wfd v 8, 9 39&T1 Sivfiy 3w gim:

e

e T



<=

=

'E_‘J

Correct Answer :-"

40)
Question Stimulus :-

Surface Area is: /ddg Yto ?RElW %:
e Scalar /GIﬁZ‘ZT
e Vector/ dfewr
e Neither scalar nor vector/ 9 afewr 7 arfewr

e Both scalar and vector/dfex ud 3rfewr g1
Correct Answer :-Vector/ If¢a
41)
Question Stimulus :-

The speed of light in the glass of refractive index 1.5 is 2% 10° m/s. If in a certain liquid the speed of
light is 2° % 10° m/s ,then the refractive index of the liquid is: / 1.5 3[Udd-ic & g § YHTA P i
2x10° 4y /g g 1 TS forelt R & UopTwr @t °med 25 X 10° /s 8, Y ST SUad-i® &I JH gNI:

e 0.64



e 0.80
° 1.20
e 1.44

Correct Answer :-1.20

42)

Question Stimulus :-

Which of the following has the longest wavelength: /= o O feaet areef gad «dl ghft:
e Blue light/7d Y& Bt
e Gama Ray/ TITHT a3 &t
e X-Ray/X-a37 &t
e Red light/dTd TSI Bt

Correct Answer :-Red light/dTd U1 &I

43)
Question Stimulus :-

The frequency of Alternate current in india is: / HRAG # WTddl YRT Ht AGHRI B:
e 30 Hz
e 50 Hz

e 60 Hz



e 120 Hz

Correct Answer :-50 Hz

44)
Question Stimulus :-

The telescope has an objective of diameter D, the resolving power for the telescope for light of

wavelength * is:/T® gRe=il & TGS FTAN D §, d@ * aeHd & e & g Iust e amar gnft :

D

o 1224

| 2

1.224

1.224

Correct Answer :- D

45)
Question Stimulus :-

Two plates are 1 cm apart and the potential difference between them is 10V. The electric field between the

plates is: /& We ol TP goR ¥ 1 T &I gt W § 3R 37 A9 fAUa=R 10V g I Wel & a9 Ia— fagad &7 &1 919 ghm:
e 10 N/C

e 250 N/C



® 500 N/C
e 1000 N/C

Correct Answer :-1000 N/C

46)
Question Stimulus :-

When two bodies collide elastically, then:/ oid 3 ol # yary T@vg Eﬁ'cIT ?, GIF
e Kinetic energy of the system alone is conserved/dd $ dad Tfasl SHel Yfed Igdt 8
e Only momentum is conserved/W AT TRfera vgan %
e Both energy and momentum are conserved/ ol Td AT gl wxfad Jgd g
®* Neither energy nor momentum is conserved/H ol 9 B AT Wfea g %

Correct Answer :-Both energy and momentum are conserved/ 39 U4 | a1 Ifed 384 &

47)
Question Stimulus :-

Two bulbs of 60 W and 100 W are connected in series across a supply, then : / 60 W Td 100 W ¥ o 99 DI TP
TS & 1Y Juit A H SST T §, 9

* The current through each of the same/&ﬁ’f s | DHTI%H HUIRT JHTA éllil
e The potential drop across 100W bulb is more/fdHd # fiRTac 100w & g5 # 3ift® gift

* The potential drop each of the same/faya # s a1 & Ju= et



e The current through 100W bulb is more/YRT &1 Uarg 100W # 3if¥e g
Correct Answer :-The current through each of the same/ﬁ‘l’f s | trarl%’a HUIRT JHTA 'Eﬁ'fﬂ
48)
Question Stimulus :-

A bulb is placed between two plane mirrors inclined at an angle of 0%, The number of images
formg_;rl: /U 9od TH S AT YU & T ¥@T STl & o TP gar | °0° &1 Hiv1 a91d 8, df 909 & foa ufafds
YT gl

e 5
* 6
e 4
e 3
Correct Answer :-5

49)

Question Stimulus :-

A body takes 4 min to cool from 100°C ¢ 70°C ,then to cool from 70°C o 40°Ch it will take-[room
temperature is 1°°¢]: /tp ugrf 100°C R 70 ggrgR A4 e sTava aar g, at 70°C @ W C g SsT e A
=T Iv g A -[FHY BT argH= = 1°°C]:

* 7 minutes/7 fire

® 6 minutes/6 e



e 5 minutes/SﬁFIE
° 4minutes/4ﬁIT-IE'

Correct Answer :-7 minutes/7 fie

50)
Question Stimulus :-

The average energy of classical oscillator is: /3dH P Bl 3NTd et éllil:

o kT
L
2
Yt
2

o (kT)?

Correct Answer :-kT

Topic:- MS_Chemistry
1)

Question Stimulus :-

Which of the following Statements are true?/ A9 & I -1 HYFT A 82
« Vitamin K helps in clotting of blood/ faeIffiF K Y& &T YadhT STHHE A Heg HdTl &

. Milk, Tomatoes, eggs are Source of Vitamin E/ g4, TUIER, 3iS fAeifM E & id &



 The deficiency of Vitamin D causes rickets/ faeifi{ D @t &t A Rdbed gt oirar @
« All of the above/ SWRiad It
Correct Answer :-All of the above/ IWRIied gt

2)
Question Stimulus :-

Structure of °% is-/ 3% &t I B-

« Tetrahedral/dguhadIg
e Square Planar/an'\ﬁl'HT-lFﬂ'Cr

e Linear/¥dHd
 Trigonal Planar/fB®ivig gHadg
Correct Answer :-Trigonal Planar/fB®ivig gradg

3)

Question Stimulus :-

If wavelength of radiation is 53°°2 then wave number will be-/ afe fft faor #t awwr 3 5800 A g @y
IHD! a4 H&AT M-
o 1724 x10% cm™1

o 1724 x10%cm™

o 1724 x10%*m™?



o —172x10%*m™?

=] -1
Correct Answer :-1.724 x10%cm

4)
Question Stimulus :-
Which of the following is strong acid?/f~9 #  Usd 3 8?2

o CH,

NH,

* HF
Correct Answer :-HF
5)
Question Stimulus :-

Phosphinic acid on heating to 313K gives-/ 313K dIU d& TH B W BIRpAS 3 3dT 8-
. Phosphine/lﬁ'\ﬂrﬁ?
« Phosphorous acid/BIEhIRY 3
e Phosphoric acid/ﬁ@ﬁﬁﬂi AT
« Phosphine & Phosphorous acid both/ BITBIT 3R BIEHRY 3 G-l



Correct Answer :-Phosphine & Phosphorous acid both/ BB 3R BIEhRY 3 gl

6)
Question Stimulus :-

Which of the following gives Reimer- Tiemann reaction?/ ffu & ¥ &19 Sir-&a= srfufesar 3ar 82
* Benzene/ CIiC)
e Chlorobenzene/ FARIESI
e Bromobenzene/ EICICEIE]
e Phenol/ B
Correct Answer :-Phenol/ ®iHId
7)

Question Stimulus :-

In following Polymers correct order of intermolecular forces is-/f% 9ga®! # SaR1Ua® qT< BT T8t HH

Nylon-66 <~Buna-S “Polythene/ dI1-66 ~&AT-S~UTald

Buna-S < Nylon-66 “Polythene/ &A1 5 < AAM-66~ rend

Polythene~ Nylon-66 “Buna-S/ UdifiF~ A@H-66 < F1-S

Polythene <Buna-S “Nylon-66/ UIetd_~&AT1-5 < ATIAI1-66

Correct Answer :-Polythene <~ Buna-S “Nylon-66/ UietfiA~&AT ° = ATII1-66



8)

Question Stimulus :-

If the Concentration of hydrogen ion is 38 X107°M  then its pH will be-/ Tfe gTSSIoM A &1 HiGUT
38x107°M g, |t gHST pH A §RTI-

e 1.3

e 2

° 242

o 7
Correct Answer :-2.42
9)
Question Stimulus :-

If enthalpy of formation of CO(g), ‘% (-9'3', N20(g) g N20:(9) re -110,-393, 81 & 9.71//mol™*
respectively, then value of 27 for following reaction will be-/ afg col(g), CO, (g}, N20(g) g N20:(9) 3 g9
ot TR HHR: -110, -393, 81 & 9.71 KJ Hia 1 § a fw sifuferar & ferw 24 &1 5w g1w-

e 778 KJ
e -778 KJ

e 778



o -778 ]
Correct Answer :--778 KJ
10)

Question Stimulus :-

If the mole fraction of water in a Sulphuric acid solution is 0.85, then molality of solution will be-/

gfe oa 3R TerR® e & faau ¥ oI &1 did YU 0.85 B dl faea-1 1 Miererar giil-

e 10m

°* 9.8m

°* 98m

e 1m
Correct Answer :-9.8m
11)
Question Stimulus :-

Which of the following oxide is amphoteric in nature?/ g & Q Fa-an Gﬁ'ﬂ'\qﬁg mmutﬁwl%r P82

° Cﬂg GH

Al, 04

B, 05

e MgO



Correct Answer :-"”2'3EI

12)
Question Stimulus :-

Biodegradable Polymer is-/ ECIEEICR CISEd %—
e Nylon-6/ Agd-6
 Polystyrene/ UTelIeTSA
e Cellulose/ ﬁqyﬁvr
« PvC/ WidRA
Correct Answer :-Cellulose/ ﬁq?hvr

13)
Question Stimulus :-

For the following reaction/ % 3ififspar & fere-

PCly = PCls+ Cls

If Concentration of 7% is 1.59 M, ‘2 is 1.59 M and 7“’s is 1.41M. Then value of K is-/ af¢ 7%’ &Y Jigan
1.59 M, ‘2 3} 1.59 M 3R 7= 1.41 M & @), K, BT 7 RII-

e 1
e 1.2

e 1.79



e 2
Correct Answer :-1.79
14)

Question Stimulus :-

The Chemical Formula of Cryolite is-/®HAdIge ST IAAAS I 8-

Na-AlF,
FeCog
NajAlF,
ZnCog

Correct Answer :-"234Fs

15)
Question Stimulus :-

Monomer of Teflon is-/ ST BT Uhddh %—

. ClC=CCl,
° CF: = CCE:
° CF: = CF:

o CH,=CHCI



Correct Answer :-¢72 = (P2

16)
Question Stimulus :-

Complexes [C°WHz)1 [Cr (CN)g] and [TWH:) ] [Co(CN’g] are example of- /[°WHa)c] [Cr (CN)g] 3R
["(VHa)6] [Co(CN6] Wigpa Tt Sarevur 3-

Linkage isomerism/ﬁiﬁ AT

Geometrical isomerism /AT FHIGATT

Ionisation Isomerism /3MAN® JHGITdT

Coordination isomerism/Iudgadiol JHTGIAdl

Correct Answer :-Coordination isomerism /3Udgadis JHGITdT

17)
Question Stimulus :-

Natural rubber is a polymer of-/ L‘I‘@‘W IR faer dgdd %—
 Styrene/ R‘IE'\ﬂT-I
« Isoprene/ TSI
e Ethyne/ TYIS
e Butadiene/ w-gﬁ



Correct Answer :-Isoprene/ TSI

18)
Question Stimulus :-

Which of the following statement is true?/ﬁ'l}l A A PH-UT HY9T I %?
« A js negative for endothermic reaction /TN sif¥iferar & firw 24 HumreH® gidT 8
. A jg positive for exothermic reaction /3T sifHfehar & forg 24 4T gldT 8
« A js negative for exothermic reaction/StHIAT 3ifufrar & forg 22 Hurmes gidT 8
« None of these/ 9H ¥ ®I§ gl
Correct Answer :-27 js negative for exothermic reaction /SHTE Srfufrar & fore A gueHe BT

19)
Question Stimulus :-

The Chemical name of Vitamin C is-/ A= ¢ &1 wafee 9w %—

« Calciferol/ H&RIBRIA

 Ascorbic acid/ TPIaP 3+
e Pyridoxine/ UL G
« None of these/ 99 ¥ &I gl

Correct Answer :-Ascorbic acid/ Eﬁv‘i"ﬁﬂ? A



20)
Question Stimulus :-

The correct order of reducing character is- /3USITI® 0T BT gl HH B-

NHE {PHE {ASHE {SbHa "{EEHE

NHE = PH3 = ASHE = SbHa = BEHE

NHE ‘{.PHE = ASHE = SbHa < BE-HE

« None of these/3H ¥ &I -8l

21)
Question Stimulus :-

For 3P orbital, value of ‘I’ is: / 3P 3iifdcd & forw I’ &1 41 &:

Correct Answer :-1

22)

Question Stimulus :-



VB js soluble in water due to-/ V2 & W@ ¥ ya-=iid g1 &1 HROT 8-
 Presence of lone Pair/U®TdH! T &1 Sufyfa
« Hydrogen bonding/g5sIo §¢Y
e Unpaired electronlélgﬁlﬁsﬁﬂﬁq
« None of these/3H ¥ ®I§ a8l

Correct Answer :-Hydrogen bonding/gISSIe a¢
23)

Question Stimulus :-

What is ‘X’ in following reaction?/ 4 sififesar H X’ a1 82

.ffﬁ\ﬁ. CHB
L ﬂ + HI—= X
S
CH,
P N A
° .



Correct Answer :- =

24)
Question Stimulus :-

Liebermann’s test given by-/ RICEGE| LRifaly) é?r ?—

Aldehydes/ TfcSgSS
Ketones/ ®IciH

Phenols/ BIFTd
Esters/ T&

Correct Answer :-Phenols/ B

25)

Question Stimulus :-



Which of the following Species are lewis base/ % Ti=fie | ?ﬁ'\‘r &R 8-

™ '1:IHI:;-:I

(©
Both the above/B’lRﬁEr EﬁT-ﬁ
None of these/ 7 ¥ ®I§ gl

Correct Answer :-Both the above/BTRﬁE[ aﬁT-ﬁ

26)
Question Stimulus :-

The degree of ionization of a 0.1 M bromoacetic acid solution is 0.132, then pKa value is/ 0.1 M
aTnﬁ'&ﬂ%Emﬁwaﬂamﬂaﬁa?o.nz g, d SH®T pKa HH 8-

e 2.70
e 2.0
e 83
e 1.7
Correct Answer :-2.70

27)
Question Stimulus :-

In an adiabatic Process-/ U®% ¥=gItH Ufthar H-



AT =0

e W=0
e AP =10
e q=0

Correct Answer :-q =0

28)
Question Stimulus :-

Which of the following have zero dipole moment?/f% ¥ & faer ﬁ'ﬂ'q' \’rIT‘Ej:Uf PIgA g2

&

° H,
o CO;

s

BF,

o All of the above/JURIad Tt
Correct Answer :-All of the above/B‘lRﬁH Tt
29)

Question Stimulus :-

Which of the following relation is incorrect?/ A9 # § ®19-T1 a4 I 78} 82

o InFCC, d= a,wi/ FCCHd= a/+2



InBCC,d=Ea -d=ﬂa
. :°/BCCH" ™

o InFCC, r= awa’E/FCC Hr= a/24/2

InBCC,r=Ea -r=ﬁa
. s°/BCCH T

InBCC, d=2a d=23
Correct Answer :- ¢+ /BCC | 4

30)
Question Stimulus :-

In the following reaction the units of Kp & Kc are-/f9 3ififssar # Kp 3R Kc &) g&18 8-

H,(g) + I,{g) = 2HI
e No unit/ Hﬁi E'H'Tlgq‘eﬂ
o molL™'/ Ty o} -1
o mol™ L' s Tyqy -1 f} -1
o ma.z—lL/ oo -1 &
Correct Answer :-No unit/ I3 &I T8l

31)
Question Stimulus :-

Terylene is the Polymer of-/ (iG] CRSED z-



Ethylene glycol and Terephthalic acid/TUTSa 3R AT 3 BT
Caprolactam/aﬂﬁﬁ'ﬂ'ﬂ Cal
Adipic acid/TfsfU® 3r &1

Ethylene/TYTSelA &1
Correct Answer :-Ethylene glycol and Terephthalic acid/TUTSeld 3R eRAAP 3 BT

32)
Question Stimulus :-

The number of Protons and Neutrons in 35Br 30 are/ 35 Br80 # Uiell 3R IgiHl @t =T gl 8-
e 35,40
e 35,35
e 35,80
e 35,45
Correct Answer :-35,45

33)

Question Stimulus :-

A ball of mass 0.1 kg moving with a velocity of 15", then wavelength will be-/ T& 0.1 faur #t Ag
10 #t Vb 1 & 97 & ot & 99 39 g B a3 oo grfl-

o 6.626x1073m



o 6.626 x1072%m
o 6626 x107¥m
o 6626 x10%m

—3&
Correct Answer :-5626 Xx107""m

34)

Question Stimulus :-
Which of the following halide is 2 halide?/ A9 # & ®19-T1 ga185S 2 galss 82
e 1-bromo-2-methyl Propane/1- FH1-2- AfYa v
e 2-bromo-3-methyl butane/Z-El'TFﬁ-B- Afda a@——r
e Neopentyl ChIoride/ﬁI’lﬂ'a"I%ElEI@?T@{C%r
e 2-bromo-2-methyl butane/2-H1-2-Afa e
Correct Answer :-2-bromo-3-methyl butane/2-511i-3- Afyd sge

35)
Question Stimulus :-

If the pH of milk is 6.8 then hydrogen ion Concentration is-/tl'% Y T pH HI1 6.8 g al E‘IE@GF-I S
5T 8-
o 15x1077

o 1075M



o 631x1073 M

o 22%10°°5M

-7
Correct Answer :-1> %107 M

36)
Question Stimulus :-

Which of the following arrangement of quantum numbers is incorrect?/ g & A PrveH GBS &1 FIH-

1 g T TE &2
e n=2, 1=0, m=0, 5=+1/2
e n=2, 1=2, m=+1, 5=+1/2
e n=1, 1=0, m=0, 5= ~1/2
e n=3, I=2, m= -1, 5= +1/2
5=+1/2

Correct Answer :-n=2, 1=2, m=+1,

37)
Question Stimulus :-

What is the Coordination number of atoms in a body Centered Cubic Structure?/ 3id: dHigd g1 G
# WRAETUSH B GHaa WS T gl 82

e 4

°* 6



e 8
o 2
Correct Answer :-8

38)
Question Stimulus :-

The Percentage Composition of Bronze is-/ 19T BT ufa=ra Hae 8-
® Cu=90%, Sn = 10%
e Cu= 60%, Zn = 40%
¢ Cu=80%, Sn = 20%
® Cu=88%, Sn = 10%, Zn = 2%
Correct Answer :-Cu = 90%, Sn = 10%

39)
Question Stimulus :-
The correct order of metallic character is- /UTf@® TUT BT g W B-

o P =5i<Be <Mg=< Na
Na< Mg < Be < 5i <P
Na< Mg=< 5i <P < Be

Be <Na< Mg <5i <P



Correct Answer :-~ =°1 =5 <Mg= Na

40)

Question Stimulus :-

For following Cell reaction: /79 I« sifdfssar & fere:

Fe (s)|Fe** (0.001 M)|| H* (1 M) H,(1 atm), Pt
The value of EMF at 298k is [E°(Fe*"[Fe) = —0.44v], 598K qTq Uk EMF T | gl-[E”(Fe*" [Fe) = —0.44v]
¢ 0.5285V
¢ -0.52V
¢ 5.2V
« None of these/ 9H ¥ &g gl
Correct Answer :-0.5285V

41)

Question Stimulus :-

The Electronic Configuration of g4Gd is-/ g,Gd T FAGEIP G-I &-

o [Xel4r®5d° ast
o LXe] 4f1*5d°6s?

o [Xel 4f75d1 65t



o [Xel 4f75d1 652

7 1 2
Correct Answer :-1X¢l 4f75d* 6s

42)
Question Stimulus :-

What is the actual reducing agent of haematite in blast furnace?/ drc1 (‘Hé’f) | %‘ﬂ?ﬁ&' GG IRSIGED
AP PRSP &-

°* NO

e CO

° 02

« None of these/ 39H ¥ ®I§ -l
Correct Answer :-CO

43)
Question Stimulus :-

DDT is formed by-/3}.8.d. f&a® gRT 9941 8-
 Chloral/d@Rd

e Chlorobenzene/ddRIdo
 Chloral & Chlorobenzene both/ TRd 3R FARIdSIA Gl

 Dichlorobenzene/SEFARIdSH



Correct Answer :-Chloral & Chlorobenzene both/ TR 3R FARIESIH aﬁT-ﬁ

a4)

Question Stimulus :-

For an isolated system,2"” =7 then 2° will be-/t® faafiia 3 & fau ,2Y =9 ga 45 &1 441 gN1-

. AS =0
. AS <0
o AS >0
o AS =0

Correct Answer :-2° =0

45)
Question Stimulus :-

For following reaction/ 4 sif¥iferar & fere-
N,0, (g) = 2NO, (g), Unit of K, is /N;04 (g)= 2NO, (g), K, HISHSE_
o molt L/-;ﬁﬁ -1
o mol L-1/ o -1
o« 17/ vfaferex
e Liter/ firex



Correct Answer :-M2 17"/ giqq ofi-1

46)
Question Stimulus :-

Which of the following species has largest size ?/ g o 3 ftreaw MR fea wiixfie o182

.Mg

o M32+
° A3t
Correct Answer :-Mg

47)
Question Stimulus :-

When Chloroform reacts with nitric acid which compound is formed?/ Sid a%ﬁﬂwn-‘u, T-Iﬁﬁﬁ? 3 | fopam
Hdl 8,99 PIH-TT Qe I 82

e Acetylene/ tdfersferm

e Chloropicrin/ FARITUfh

e Nitromethane/ T-I'I's'@'lffﬂ:l

e None of these/ '&'-‘-I'ﬁ I Hﬁ’s‘ el

Correct Answer :-Chloropicrin/ FRITUf



48)
Question Stimulus :-

The correct order of reactivity of alcohols in reaction with hydrogen halides is-/Uspigdal & gr5sod
garss! & 91y srfuferar # frarerdar &1 98 ®4 8-

o 123203

. 2°>1°>3°

. 32010

. 1933720
Correct Answer -3 =2 = 1

49)
Question Stimulus :-

IUPAC name of [Ni(dmg),] is/ [Ni(dmg),] &T 33.g. 9. .. 914 3-
 Di-dimethylglyoximato nickel (III)/ ST3-S3AIYT @GS TaTHel fAfea (111)
« bis (dimethylglyoximato) nickel (II)/ fo¥1- (S mrgsiifRmer) FAfea (11)
« bis (dimethylglyoximato) nickel (III)/ fd9- (SEAfYT TargeifR™Aa)) fAfere (111)
« bis (dimethylglyoximato) nickel (IV)/ fa- (sEaf¥e mrgsiifame) [Afea (1v)
Correct Answer :-bis (dimethylglyoximato) nickel (II)/ fd9- (STEAfYa m@rgsiifammer) fAfea (11)



50)
Question Stimulus :-

The Correct order of acidic character is-/Gl'lFﬂTI?IT Caj '\‘Iﬁ hH %—

« Primary alcohol < Secondary alcohol < Tertiary alcohol/UT4f¥& Tepigd = fgdia Tepigd <

qg Teplga

« Tertiary alcohol ~ Primary alcohol ~ Secondary alcohol/ Tl Teplgd ~ WIUA® Teplgd-

fa<ta Temiga

« Secondary alcohol > Primary alcohol > Tertiary alcohol/ fgdia temigd “urdfie Tepiga™
JdIa Tehlgd

« Primary alcohol ~Secondary alcohol “Tertiary alcohol/ UT4fi® Tepiga ~“fgdia vemisa ~

qta Yeblgd

Correct Answer :-Primary alcohol ~ Secondary alcohol “Tertiary alcohol/ UT4fii& Tehigd ~fgdlu Tepigd

“qdg Teslgd

Topic:- MS_Maths
1)

Question Stimulus :-

In what ratio the y-axis divides the line joining the points (2, -3) and (-5, 6)? /ﬁ'g\z—ﬁ (2, -3) 3R (-5, 6) G|
e areft Yarsh &1 y-sier fva srgura & faurfora w=ar 82

e 2:5

e 2:3



Correct Answer :-2:5

2)

Question Stimulus :-

1f 2= (+2 = 3K) 309 P = Gi+7+2K) then the angle between (@+b) ypg (E—D) is:/afy a=0+2 —30) gng

B=(i+1+20) qq (G+5) g G-5) 3 g Bor 2:

T
3

8
o 4

T

Correct Answer :-2

3)

Question Stimulus :-
1+i 1—i i
1—i i 1+i
io1+i 1-—i

=7




—4— 7
34+ 7i
7+ 4i
o 4+ 7i

Correct Answer :-* T 7

4)
Question Stimulus :-

Slope of the line which cuts intercepts of equal lengths on the axes is: /3{&ﬁ T GHTH 3f=: WUS HleA arell @7 $i
WqUTdT &

o V3
e 2
0
e -1
Correct Answer :--1

5)

Question Stimulus :-

ralA

[
4/ cosx
dx =7

0 {x-’cc:sx + w’sinx:}



T
Correct Answer :-4

6)

Question Stimulus :-

dy
i ] ] . ] 1 = +y=2I
The mEt_agratmn factor of the differential equation (xlogx) 2 ' ex is:/ 3AHd JHIHUT
(xlogx) = +y = 2logx .
dx ®T IS UNP 3:
logx
o log(log x)

x
o °©

Correct Answer :-28%

7)

Question Stimulus :-



* 8e

e 7e

* 6e
Correct Answer :-7e
8)
Question Stimulus :-

The arithmetic mean of first n natural number is: /YY" n UHd BT BT FHTGR AIH B:

n+1
Correct Answer :- 2

9)

Question Stimulus :-



1+x 2x

P = ELMR AR = S S

o ()}
o (0}
2f(x)

3f(x)

Correct Answer :-2f9

10)
Question Stimulus :-

Equation of circle which touches the lines x =0,y = 0and 3x + 4y = 4 is: /wi‘@wﬁ x=0,y=0 3R 3x + 4y
= 4 P W HIA qTd g BT JHIHT 8

o Xi—dx+tyi+dy+4=0
o Xi—dxtyi-dy+4=0
o X tdx+yi+dy+4=0
o N Hd+yi-—dy+4=0

Correct Answer ;- ~ &ty -4y +4=0

11)

Question Stimulus :-



-

52 5% 5%
53 5% 55
5% 55 5°

=7

. 513

Correct Answer :-0

12)

Question Stimulus :-

5 6 3 5 6 3

A=|-4 3 2 -4 3 2
If —4 -7 3| then cofactors of elements of 2" row are: /3fe ¢ -7 3l qa fgdy ufea & srgudal &
WS &

e 39, -3,11

e -39, 3,11

e -39, 27, 11

e -39, 3,11

Correct Answer :--39, 27, 11

13)

Question Stimulus :-



The number of solution of the system of equations 2x +y-z=7,x-3y +2z=1andx +4y-3z=5is:/

TR AP 2x + y -z =7, x -3y + 2z = 1 3R x + 4y - 3z = 5 F gl DI ST &

Correct Answer :-0
14)
Question Stimulus :-

The third term of a G.P. is the square of first term. If the second term is 8, then the 6th term will be: AL

TR Joft &1 JdIT ug yyH ug &1 9 81 afe 39 guRT Ue 8 B 99 Jadl Ug gh:
e 128
e 120
e 124
e 132

Correct Answer :-128

15)

Question Stimulus :-



If A, B, C, D and E are five coplanar points, then DA + DB +DC+AE +BE + CE =? / afe A, B, C, D 3R E Ul
wﬁhﬁg%a& DA + DB+ DC+AE + BE + CE =7

—

o DE

o 4ED
o 2DE
o 3DE

Correct Answer :-3PE

16)

Question Stimulus :-

@ _, @ _,

If ¥ =S WX thenar  /gfg Y =S Wrgg e

2
o Vxil—x




1

Correct Answer :-2vx+v1l — x

17)

Question Stimulus :-

4 6 14
1.3 2.4 6.8

+oo0 =7

log, 3
log, 2

2log, 2

* None of these/?FI’ef I ﬁé &l

Correct Answer :-128¢ 2

18)
Question Stimulus :-

How many words beginning with T and ending with E can be made with no letter repeated out of the letter of

the word ‘"TRIANGLE’? /¥ ‘“TRIANGLE’ & 31&RY ¥ fo-1 fodl srerR &) 3ievme, T ¥ 3RY 3R E R 3id g1 ard foha visg
F910 T ghd 872

[ J 8P6
e 720
o 722

* 1440



Correct Answer :-720

19)

Question Stimulus :-
(a — b)+1(a — b)2+}(a — b)3+
a 2 a 3 a
o l0EZ: {(a—b)
[l
. log, (E)

og. (2)
° %8s 1g

(==2)

g\ a

-.-m:?

log, (E:]
Correct Answer :- b

20)

Question Stimulus :-

dy

'I_‘X.' i
For the curve "

+ Jy=1

' value of <~ at

o

2'a

M or Moy — d_} i
) st/ T VT RA = wrEAm &2

11

)T\’%:



o 2
Correct Answer :--1
21)

Question Stimulus :-

The sum of integers from 1 to 100 which are divisible by 2 or 5is: / 1 ¥ 100 d% 2 41 5 ¥ fauTsa quifel &1 I ©:
e 3000
e 3050

* 4050

®* None of these/%ﬂ'l?f I aﬁ'é TEl

Correct Answer :-3050

22)

Question Stimulus :-

2+ 5 2+ 5i

The conjugate of complex number *-3i is: /JfRY JWT -3 BT G 8

7 — 261
° 25

-7 — 26i
° 25

-7 + 26i
° 25



7 + 26i

-7 + 26i
Correct Answer :- 2

23)

Question Stimulus :-

dy ¥

, dy , ¥ .
— — — 4+ ==
Solution of differential equation == = s is:/3APhd GHIHIU é= = . Dl gdd %:

o X(y+ecos x)=sinx+C

o X(y—cos x)=sinx +C

o Xy —cos x) =cosx +C

o X(v+cos x) =cosx+C

Correct Answer :-<& +cos x) =sinx +C

24)

Question Stimulus :-

A= [3;231: x+1]

A=[3—2x x+1]
If ¢+ lis singular matrix then x = ?/ ¢ 2 ¢ Ifafsmoggaa x =2



* -2
Correct Answer :-1
25)

Question Stimulus :-

f x
j_\‘l|1+sinidx =7

. %(casz — sinj—D +C
. 4 (cosz - sing) +C
. 4 sinj—; - casj—D +C

4(sin> + x)+c
3!—714' CG‘S‘:]:'

X X
4 5sin— — cas—) +C
Correct Answer :- 4 4

26)

Question Stimulus :-

If b kﬁare the unit vectors and mutually perpendicular then [i k] = ?/Elﬁ Lk queR ama—cr'{a?rs‘ gfewr
%‘ a9 i kj]=2



e 1

® None of these/%ﬂ'ﬁ' I ﬁ'{f &l

Correct Answer :--1

27)
Question Stimulus :-

Which of the following is known as newton-Raphson formula: /fF=fafea & 9 COE| QE?-W JA pedrdl f
fxn)

HEp+1 = Ep f"(}{ ::I
n

L f(xy)
. En+1 = Ep — f(xn]
L fx)
o TR

fxa)

Ep41 = Ep ff(}{ :}
n

fxa)

HEp41 = Ep I
Correct Answer :- £ ()

28)

Question Stimulus :-

jxlngx dx =7



l!‘::1 x:+£'
. 2 0g x 2

- -
< <

| +x+£_
. Engx 2

o Yllogx+x+C

el e}
rs rs

1 il +C
o 2 ogx 4
x?Z x?
—logx——+C
Correct Answer :-2 4

29)
Question Stimulus :-

If the points A(-2, 3), B(1, 2), C(K, 0) are collinear, then k = ?/ af¢ fiig A(-2, 3), B(1, 2), C(K, 0) ¥RIY §, a9
=?

Correct Answer :-7

30)

Question Stimulus :-



If the coefficient of a correlation between x and y is positive. Then what happens when value of x increases
perfectly:/afe x T y & AT e Y UI® YHTHS §, I T gidl oid x & {14 A g gidl 3:

® The value of y increase/y FUFEH q@ gt 8

e The value of y decrease/y & AIF & &H gidl &

* The value of y remain constant/y &I HIH 3R Ygdl %

e Nothing can be said/ $© T8l ®al ©f TPHdl
Correct Answer :-The value of y increase/y & AF § gf gdl 8
31)
Question Stimulus :-

If A and B are independent events such that PA) = 0.4, P(B) =x 5,4 PLAUB) = 0.5 gpon X =7/ gfg A 3R B
T 9 & 59 U fp PA) =0.4, P(B) =x 3fg PAUB) = 0.5 gg x =7

4
e 5

. 0.1

|

®* None of these/%T-I'ef I ﬁ'{f &l

1
Correct Answer :-©

32)



Question Stimulus :-

—

cosyy

j = dx =7
Wi

o 2 cosvx +¢
e 2sinyx+rc
e Sin x4+

1 _
—cosyx+c
o 2

1 .l_
Correct Answer :-25invx+c¢

33)
Question Stimulus :-

Which of the following is correct? /fAfFaf@a & d 19 98 82

° (AEB) = A'F’
° (AB)' = B'A’
A1 adjd

° A

o (4B 1= A1p-1

[ ¥ [
Correct Answer :-':"5“93| = B4

34)



Question Stimulus :-

The eccentricity of hyperbola 2x% —y* =6 jg, / 3ife wRaeg 2x* —y* = 6 P} Ibadl 2:

i

Correct Answer :-V3

35)
Question Stimulus :-

In MABC jpa=5 c=2VZand £B =45 tpan ® =?/ﬁﬁ\—ﬂmﬁqﬁqﬁa=5 c=2{23—ﬂTaB=45"‘aa-h =7

[
Correct Answer :-V13

36)

Question Stimulus :-



The angle between the planes ** Y7250 qnd ¥tV +22=7 jg: /qgadal X~ YT 2= 0 g *+ v+ 22=7F fi9

I 3:

e =

i

Correct Answer :-3

37)

Question Stimulus :-

it + in+1 + in+2 + in+3 —7

Correct Answer :-0

38)



Question Stimulus :-

If p is the probability of success and q is of failure, then the probability of r success in n trials will be: /afe P

THadl B 3R q SABAdT $t UriedT 8, 99 n G0 § r Iwaarsi @) urfaedr ghfl:

° Neg,rpt gt

ncr Pf—‘_ qf+‘_
o Ncp pf gT

° ncf PE+‘_ qf—‘_

r

n —_
Correct Answer ;- cr P 2"

39)
Question Stimulus :-

If 5in6 + cos® = m andsec® + cosec 6 =n then nim+1)(m—1) = ?/ '!.T% sind + cos® = m H{ sec 0+ cosec® =n
ddnim+1)(m—1) =7

Correct Answer :-2m

40)



Question Stimulus :-

dy

=sin Hxf1—x +xvV1—x2 29 yv=sin Hxyl—x ++/x1—x2 -
/ gfe , d9 d=x

, then 4=

?

If Y

1 1

i "‘+ i i
o V1 — x° 24x — x°

—2x 1

| ""+ | 2
o V1 —x= 2vWx — x*

-1 1

o V1 — x? 24x — x?

e None of these/STH A HIS T8I

1 1

! 2 ! _ 2
Correct Answer :-V1 — ¥~ 2Vx —x

41)
Question Stimulus :-

In how many ways can 12 gentlemen sit around a round table so that three specified gentlemen are always

together? /12 3fad TF Md AW WR W FATHR fHaa dH A 96 Iod € wafP o149 fawrss aafed ga=m v Iy 832
¢ 9
e 10!
e 3110!
e 310

Correct Answer :-3! 9!



42)
Question Stimulus :-

1+i+l+l+...m: ?
a = 7

-1
() E

g —e 1

Correct Answer :- 2

43)

Question Stimulus :-

The point of intersection of the line @ ¢ - and the plane Y7327 1=0q. /o= Y@

x—1 y+2 =—3

3+ -z 3R gHdw VT 1=0 oy yfode fag @

e (10, -10, 3)

e (10, 10, -3)

e (-10, 10 3)



e None of these/3TH ¥ ®Is A8l

Correct Answer :-(10, 10, -3)

44)

Question Stimulus :-

= . = = . = 1 -x+1:}- =
The angle between two lines z  : -1 and 1 2 2 is: /3l G @IS 2 2 -1 3R

x—4 _:.+4 z+1

1 > ¥ fg B
° 1(

-1

WO

.o
.o

cos 1(—)
Correct Answer :- 9

WO | b

WO

)
)
)
)

SO

45)
Question Stimulus :-

The probability that leap year will have 53 Sunday is: /U® 3ifiad & 53 IR g @I wrfwar 8:

4
o 7



1] 1| p=

~1| 2

2
Correct Answer :-7

46)
Question Stimulus :-
fa-i=a. i+ =a.(+j+k thenaz?/ma.i: a.(i+)) = a.(i+j+k) qgd =7

-

1

[ J
g

=
+
i
+
e

-

Correct Answer :-!

47)

Question Stimulus :-

The maximum value of P =* T3 gych that V=20 x+2y =20, x=0, y=0q. 4

x+y=20,x+2y=20, x20, y20 F gy P =%+ 3V g1 3RIpay 7 B:



e 10

e 20

e 30

* 60
Correct Answer :-30
48)
Question Stimulus :-
The number which exceeds its positive square root by 12 is: /arqﬁ WW@ 12 Gmiﬁ, Q;ﬁ J=T %:

* 9

* 16

e 25

e None of these/3H A &g 8!

Correct Answer :-16

49)

Question Stimulus :-

a+ib atib

1f &+ = (55) then 407 =7 iy & + W) = (552) qg 22 +y2 =2

a? + b?
® C:+ dz



a5 a5

ac — 'I:I_L
[ C:+ dz

a? + b?

° C:— dz

® None of these/%‘rlﬁ' ) ﬁé i

a? + bh?
Correct Answer :-c” + d’

50)

Question Stimulus :-

The general solution of the equation

E=111T+4?“, nel

8 =2nm+—, nel
° 3

4m
8=nn+ (—1)" —, nel
° 3

* None of these/ 's'-'-l'l?r I ilﬁ'é’ &l

4
B=nn+ (—1)" —,
Correct Answer :- 3

51)

Question Stimulus :-

nel



A can hit target 4 time in 5 shots, B can hit 3 times in 4 shots, and C can hit 2 timgs in 3 shots. Thg
probability that B and C hit and A does not hit is: / A%\‘ﬁﬁ&ﬂﬁsﬁ@4aﬂ, BA4AAITRAUC3IHY 2 TR US
HHdT B, 59 919 P F1 Wildear @ fF B 3R € &y 31 e & vd A T

® None of these/%-‘-lﬁ I aﬁ-s‘ TEl

1
Correct Answer :-10

52)
Question Stimulus :-

If A(1, 2, -1) and B( 1, 0, 1) are given, then the co-ordinates of P which divides AB e)gternally in the
ratio 1: 2 are:/ A M g A(1, 2, -1) 3R B(-1, 0, 1) HI AN Tt WAITMABHI 1 : 2 AN FU A
faved e o ara fig p & Frdris 2

| =

(11 4r - 1)

° (31 4, - 3)

1
e 3(3,4,-1)



e None of these/3TH ¥ ®Is gl

Correct Answer :-(3, 4, - 3)

53)

Question Stimulus :-
If "P5 = 20 "P3, thenn = 2/ af¢ "P5 = 20 "P5, @@ n =2
e 8
e 9
e 10
e 11
Correct Answer :-8

54)

Question Stimulus :-

If coefficient of (2r + 3)th and (r - 1)th terms in the expansion of (1 + x)15 are equal then value of r is: Jafe
1+ x)1PF R A (2r + 3) T 7E 3R (r - 1) § UG F UIP SRR & a9 r BT A 8:



Correct Answer :-5

55)

Question Stimulus :-

2cos7?5°% coslh® =7

b | =

1
Correct Answer :-2

56)

Question Stimulus :-

A~ 10 - 7 10
The middle term in expansion of (x _;:] is: /(x‘ _x) P TR § 99 UQ &©:

o 8064x°
o —8064x5
o 6720x*

o —6720x%



— 5
Correct Answer :-—8064%

57)

Question Stimulus :-

The equation of conic with focus at (1, -1), directrix along x -y + 1 = 0 and with eccentricity V2 is:/

x -y + 1 = 0 Fruar au1 V2 Idb-sdr a1 WHa ST FHHIU FT FI Faie ST A1 (1, -1) B
. XX-yi=1
o =1

2xy —dx + 4y +1 =0

2xy +4dx — 4y —1 =0

Correct Answer ;-2 &+ 4y +1=0

58)

Question Stimulus :-

=

cosec A 4+ cotA = 1 =

- = cosec A + cotA =
If 2’ then @4 =7 / gfg

tan A =7
, dq =&n

I‘\-.'ll

21

o 22

15
o 158

44
o 117



117
o 43

44
Correct Answer :-117

59)

Question Stimulus :-

1 1
The quadratic equation whose one root is 2+ will be: /af¢ f&dft af T FT T qa 2+ = 31 A9 a8
HHIBOT I

o X +4x—1=0

o X +4x+1=0
o X —dx—1=0
o VZ2xZT—dx+1=0

Correct Answer :-% T4x—1=0

60)
Question Stimulus :-

The differential equation whose solution is ¥ = ©1 €053 ¥ G210 & o /q= Jrqeper YHIBIUT B AT 7, forTeT ga

¥ = Cq CO5aX + C,5in ax %?




s+ay=0
o dx- @)
dy
—+asvc=10
o dx- @)
%y
o dx? ¢y =
d? -
::.r+a‘}-‘={]

Correct Answer :-dx°
61)
Question Stimulus :-

Area bounded by parabola ¥* =¥ and straight line 2 = * is:/WRaad ¥~ =¥ 3k e 3@ & = * § tRag

QW%:

L | b

| =

4
Correct Answer :-3

62)



Question Stimulus :-

The center of circle is C(2, -5) and the circle passes through the point A(3, 2) the equation of circle is: /39

A BT JHIBIU AT g <t fig A(3, 2) & ToRdT @ Td ™o@1 & € (2, -5) &:
o X Hyi—du+10y —21=0
o X tyi+dx+6y—21=0
o X H+yi+dx—10y+21=0
* None ofthese/%‘—lﬁﬁﬁ%qﬁ
X4yl —4x+10y —21=10

Correct Answer :

63)

Question Stimulus :-

coshd® = 7

V10 + 245




J10 — 245

Correct Answer :- 4

64)
Question Stimulus :-

ax (b x&) +bx (Exd)+ cx(axb)=1?

. 3ld54
. G+b+¢C
0
Correct Answer :-0

65)

Question Stimulus :-
1 1

If 7th term of a H.P. is ® and the 12t term is = then the 20" term is: / afe &M gxrH® Svft ®#17 aTue
1 1
wdYr 12 9= g 99 20 a1 US g:



1

Correct Answer :-4°

66)

Question Stimulus :-

.1 —cos mx
lim ——=7
n—=ec 1 —COS X

=3

°
3=

%

(=]

[}
=

ba

[ J
!

P

m

Correct Answer :-1°

67)

Question Stimulus :-



dy  (1+axdy dy  (1+x)y

The solution of differential equation @ (y-Dxjg; / ap AT TGHIHIT @ (y-Dx T o

o logxy+x+y=C

X
lng(—) +x—y=C
° y

o)+ )

o ¥—x—log xy=C

C

Correct Answer :-¥ ~ ¥~ log xy=C

68)

Question Stimulus :-

x—4 y-12 z—k

Intheline 1 = 1 z liesin the plane *~ ¥ 2=7 then the value of k is:/ Tf¢ TXd ¥@I

x—4 y-2 z-k

T T 1 2 gHaa E Ytz i@ as k FT UM ©:

Correct Answer :-7

69)



Question Stimulus :-

tan~ (v/3) — sec1(-2) =7

w3

® None of these/%‘rl'l?f I ﬁé gt

T

Correct Answer :- 3

70)
Question Stimulus :-

A line is perpendicular to two lines having direction ratios L=2-2 3nd 921 the direction cosines of
that line are: /U® WA 3T 3 & 3W13MT & wigad g @l Rpequa b 22 ek & 2 1§ sg @ it
feamisamd T g

L] b



* None of these/37H | &g ol
2-1 2
Correct Answer :-3' 3~ 3

71)
Question Stimulus :-
fo) =—— . - () = ——

(x*+1) js increasing in: /Feafafaa A 3 fea A (=%+1) af‘él'l:lﬁ g

° (_jﬂ -l}

o (—1,02)

(—co,—1)U (1, c0)

None of these/%‘—l’ﬁ I ﬂﬁé TEl

Correct Answer :-‘:_1’ D

72)
Question Stimulus :-

J' COSX
dx=7
(1 +sin x)(2 + sin x)

o log (1 +sin x)(2 + sin x)+¢c

2 + s5in x

1 -
° Dgl + sin x



l 1+ sin x
° Dgz+sinx

* None of these/%T-I'ef I ﬁ'{f &l

1+ sin x
log————

g :
Correct Answer ;- 2 tsinx

73)

Question Stimulus :-

d ¥ d ¥ yl

17 =Y thena  /afge =V gga

x(1 —y)
o« Yix—1)

y{1 — x)
] XU’ - 1}

(x — xy)
o« OV —x)

e None of these/3H ¥ ®Is A8l

y(1 - x)

Correct Answer :=*0 — 1)

74)

Question Stimulus :-

i i

The Harmonic mean of 1-=x and 1+ab js: f1-ab 3R 1+ab P GIIHD HIY %:




e V1— alb?

o 1 — a?h?
® a

1
o 1 — a?h?

Correct Answer :-a

75)

Question Stimulus :-

If ¥+ 9~ k2=0 g the equation of plane through the origin that contains the line : ~ 3 sthenk =’

/ af¢ ga fag | oA aren =

e 1

43%1@31%331‘

e 3
e 5
e 7

Correct Answer :-5

76)
Question Stimulus :-

Which of the following is not true:/ fAfeafaa # & &9 41 39 8:



A Polynomial function is always continuous/ U® dguq e H%H Hddq '&ﬁ'cIT %

* A continuous function is always differentiable/U® Hdd el g gpa-g gt %

A differentiable function is always continuous/ T&® AFAT B '\‘I%H Hddq ﬁ‘cIT %

¢ js continuous for all x/¢*, Ud® x & fore Taq &
Correct Answer :-A continuous function is always differentiable /T&% Jdq wa- d¢d aHa-1g gidl &

77)

Question Stimulus :-

Eccentricity of the conic 1% + 7" =112 jq. /qqigpq 1627 + 7" = 112 g} Idpegar B:

3
° WJ?

]
e | L

| e

3
Correct Answer :-%

78)

Question Stimulus :-



If A and B are two independent events, then A and B are: /Elﬁ AdB ﬁ d EIE‘—ITQ a9 A 3R B ﬁTﬁ
e Not independent/ T&dT gl
e Independent/ Wdd
® Mutually exclusive /TR 3uqsif
e None of these/%T-I'l?f I ﬁi T-Iﬁ
Correct Answer :-Independent/ &d3d
79)
Question Stimulus :-

If the slope of one line of the pair of lines represented by ax® +4xy +7° =0 g three times the slope of
the other line. Then a is: /af¢ @ + 4 +7" =0 g7 foefta Y@mel # € U@ 39T B Yquar gasl ¥&1 3t yaqurar 9
&9 T @ 99 a &1 |= g

e 1
e 2
e 3
e 4
Correct Answer :-3

80)

Question Stimulus :-



A s F]=[1TJ ﬂs]then/qﬁg[g :]Jr[; ﬂ=[1fj g];ﬁ—

Correct Answer :-x = 2,y = -8

81)
Question Stimulus :-

The third term of a G.P. is 4 then the product of its first 5 terms is: /W{IUﬁﬁT uft BT =T UG 4 %I dd sﬂ%ﬂg@f
5 UGl &1 UEGA g

° 64
e 256

e 1024

e None of these/3TH ¥ ®Is gl

Correct Answer :-1024

82)

Question Stimulus :-

The position of points 0(0, 0) and P(2, -2) in the region of graph of in equation >~ % <> will be: /



3fpar 24~ < ° ¥ ety & ® fargait 0(0, 0) 3R P(2, -2) # fRufq Faf enfi:
e Oinside and P outside/O 3=i: &7 # 3R P 159 &=
e O and P both inside/0 3R P Gl o=d: &7 |
e O and P both outside/ O 3R P gl 9159 &7 &7 &
e O outside and P inside/ O 9159 & | 3R P 3=1: &7 &

Correct Answer :-0O inside and P outside/O 3/: &3 # 3R P 9189 &T &

83)

Question Stimulus :-

If the root of ¥*° t7¥+9=0 3.6 equal then value of p is: / afg 4" 7% +9 =0 % qq RaR & 99 p PT A 8:
e 144

* 169

o +13
o F12

Correct Answer 112

84)
Question Stimulus :-
The perimeter of a triangle with sides 31+ 4 ¥k 4+ 31 +5k gnq 7141 jg: syygraff 31+ 41+ 5k 4+ 37+ 5k gjg

i+ gret frye &1 afvEm @



o 200

J—
Correct Answer :-"*°0

85)

Question Stimulus :-

cos 807 cos 20? 4+ sin 80° sin20° =7

[}
bad | =2

-
M|ml

||"‘

-

[}
=
[}

Correct Answer :-2

86)

Question Stimulus :-



"pr+ "Cr =7

°* (n-r)!
Correct Answer :-r!

87)

Question Stimulus :-

, Ein @ —tan a , Ein @ —tan a
lim

i — 1 —_
The value of :-0 siwe _ will be/ a=0 sn*a T HI9 SN:

1

° 2

bad | =2

1

Correct Answer :- 2

88)



Question Stimulus :-

The direction cosines of the normal to the plane *¥ 7% =0 are:/9ada °Y T4 = 0 & aifdrcia ¥ iR g

0,—=,0
¥ 5.1
o 0,54

Correct Answer :-0~1 0

89)
Question Stimulus :-

If'Cp + "C,p1 = "Flc thenx = 2/ afdNc,. + "C.p 1 = "1, qax =2

* r-1
° r
°r+1
°* n

Correct Answer :-r+ 1

90)

Question Stimulus :-



The maximum value of {® = (x = 2)(x = 3)? jg. / 1) = (x = 2)(x — 3)* 1 3RyHay A &:

[FVR LN |

4
Correct Answer :-27

91)
Question Stimulus :-

If a plane cuts of intercepts -6, 3, 4 from. tl)e co-ordinate axes, then the length of perpendicular from the
origin to the plane is: /3¢ T® Juad fHomriel | -6, 3, 4 F 3(: WUS FIcdl ¢ a9 39 JAIA W Jd fig | 1A T T I
?IﬁTsf %:

1

'6

[ ]
=
iy

[ ]
-t
ks

[y
[

.
=
]
]

°
=
&



12

Correct Answer :-V2°%

92)

Question Stimulus :-

cos(90° + 8) sec{270° + 8) sin(180° + 8) _,
cosec(— B) cos(270° — B)tan(180°+ 8)

e COs O

e Sec O

e CoOt D

®* None of these/?FI’ef I ﬁé &l

Correct Answer :-°°5 @

93)

Question Stimulus :-

1-iy3 1-i3

Ifz=1*"3thenargz=?/df¢z=*"?ddargz = ?

. 60°

. 120°

240°

3007



Correct Answer :-24‘]0

94)

Question Stimulus :-

1 1
tan~1(1) + cas"l(— E) + sin~1 (— E) =7

Im

o 4

Im

Correct Answer :- 4

95)
Question Stimulus :-

The equation of the line passing through the point as intersection of the lines x + 2y + 3 = 0and 3x + 4y + 7
= 0 and parallel to the liney — x = 6 is: /WWTV—X: 6 & FHT=R 3R ¥@raif x + 2y + 3 = Oéﬁ?3x+4y+ 7
= 0 & Ufwed g I oA ardl ORa IWT BT THIHIT §:

e xX-y=0
e x+y=1

* XxX+2y-3=0



e 2x+y-3=0
Correct Answer :-x -y =0
96)

Question Stimulus :-

1
Sum oil’ root is -1 and sum of their reciprocal is . Then equation is: /4f¢ qyﬁm it -1 3R W%EQW
&1 AT & g1 a9 THISRT I

e BX2+x +1=0
o X +x—6=0
o X —X+6=0
o X —bx+1=0

Correct Answer - Tx—6=0

97)

Question Stimulus :-

1

=7 e @ d Rl @ ok D p A

If 9 is the angle between two unit vectors @ and ? then
1 -~ -
P 0 grag: b=
cos &
° 2




sin @

tan &

e None of these/3H ¥ ®Is A8l
sin &

Correct Answer :- 2

98)

Question Stimulus :-

1f 3=G-2+39 ang 0 =030 then [0x 2 =7/ gfy 3=G-2+38) gig b= ~30) gq [ox 2 =7
o 419
o 2423
o 5V17
o 1043
Correct Answer :-V18

99)

Question Stimulus :-

(3+i+3—i) 5
a =
S




e 0

b
o 4

Correct Answer :-0

100)

Question Stimulus :-

If the points (=1,3,2),(=% 2-2) pq > 5 Y zre collinear then *=; / Tlﬁﬁ_é (=13, 2), (=% 2-2) gig 5, 5
e § e 1=

e -10
e 5
¢ -5
e 10

Correct Answer :-10



